Measuring Cylinder wangdoodles 1
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first and the second containers have  a total of 1100ml

· The second and third containers have a total of 1400ml.

· The first and the last containers have a total of 1500ml

Can you draw the three measuring cylinders in the correct order?


	


Solution
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Measuring Cylinder wangdoodles 2
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first and the second containers have a total of 900ml.

· The second and third containers have a total of 1100ml.

· The first and the last containers have a total of 600ml.

Can you draw the three measuring cylinders in the correct order?


	


Solution
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Measuring Cylinder wangdoodles 3
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first and the second containers have a total of 1.5 litres.

· The second and third containers have a total of 1.3 litres.

· The first and the last containers have a total of 1 litre.

Can you draw the three measuring cylinders in the correct order?


	


Solution
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Measuring Cylinder wangdoodles 4
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first and the second containers have a total of 1.1 litres.

· The second and third containers have a total of 1300 ml.

· The first and the last containers have a total of 1.6 litres.

Can you draw the three measuring cylinders in the correct order?


	


Solution
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Row of Measuring Cylinders 5
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first and the second containers have a total of 1 litre.

· The second and third containers have a total of 1.5 litres.

· The third and fourth containers have a total of 1700ml.

· The first and the last containers have a total of 1200ml.

· The last container has twice as much grog as the first.

Can you draw the four measuring cylinders in the correct order?


	


Solution
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Row of Measuring Cylinders 6
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first and the second containers have a total of 1.1 litres.

· The second and third containers have a total of 1.5 litres.

· The third and fourth containers have a total of 1.3 litres.

· The first and the last containers have a total of 0.9 litres.

· The last container has 100ml less than the third container.

Can you draw the four measuring cylinders in the correct order?


	


Solution
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Row of Measuring Cylinders 7
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first container has 400ml more than the second container.

· The second container has 100ml less than the third container.

· The fourth container has twice as much grog as the second container.

· The four containers contain a total of 2 litres of grog.

Can you draw the four measuring cylinders in the correct order?


	


Solution
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Row of Measuring Cylinders 8
	You are to fill a row of measuring cylinders with grog for the Tudor sailors.

· The first three measuring cylinders have a total of 1500ml.

· The last three measuring cylinders have a total of 1.5 litres.
· The ½ litre of grog is between the 0.6 litre and the 800ml containers.

· The 5 measuring cylinders have a total of 2.6 litres of grog.

· The last container is half as full of grog as the first.

Can you draw the five measuring cylinders in the correct order?


	


Solution
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